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’EIE 2T Fayhtyr—2 12.09 8.68 2077 m

BRI NATHR—k 4.41 2.52 6.93 Z&m

avy)—k 18N-8-40(= {FB) 117.40 11740 m°

& i o 3 39549 | 39549  m?

T 2T Fayhtyr—2 55.12 5512 m

XHRI INATHR—k 29.94 2994 Zon

" avy)—k 18N-8-40(F {7B) 45.37 4537 m°

a av o) —k 18N-8-40 t=10cm 61.32 6132 m?

+ i3 WY L 3.62 362 m?

g PN 18N-8-40(F& {FB) t=7cm 3.96 396 m°

T RC-40 t=10cm 55.40 5540  m?
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3.9 7.8 6. 35 24.8
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1.4 3.9 2.30 3.2 1.3 0.75 1.1
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TE tE Tmh £ (a+b) (c+d) (e Xf) (axc) (bxd) (g+h+l) BcH 1/6( X k) 1/2 Xk (mXe)
4.800 5.400 1.800 1.200 10.200 3.000 30.600 8.640 6.480 45.720 3.000 22.860 1.500 15.300 A
1.700 1.380 1.200 1.200 3.080 2.400 7.392 2.040 1.656 11.088 1.600 2.957 0.800 2464 B
1.700 1.380 1.200 1.200 3.080 2.400 7.392 2.040 1.656 11.088 1.600 2.957 0.800 2464 B
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JKIELEBA= 1.920m2 % 1.044 X 2= 4010
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4.800 5.400 1.800 1.200 10.200 3.000 30.600 8.640 6.480 45.720 3.400 25.908 1.700 17.340 A
1.700 1.380 1.200 1.200 3.080 2.400 7.392 2.040 1.656 11.088 1.600 2.957 0.800 2464 B
1.700 1.380 1.200 1.200 3.080 2.400 7.392 2.040 1.656 11.088 1.600 2.957 0.800 2464 B
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6.060 6.740 1.880 1.200 12.800 3.080 39.424 11.393 8.088 58.905 3.400 33.380 1.700 21.760 A
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TYDITER (HERE)
(ST45. 0~)

1) #AFH t=35cm
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